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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 298 16.4 3.8 25 65.5 100
2 298 16.9 4.2 25 67.4 100
3 298 15.1 5.3 25 60.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (e)  0 marks: Nothing worthy of any marks. 
1-3 marks: Answers evaluate in basic/limited detail the 
effectiveness of social control inside prisons. Answers convey 
meaning but lack detail. Little or no use of specialist vocabulary.  
4-6 marks: Answers evaluate with some detail the effectiveness 


of social control inside prisons. Answers communicate meaning 
with some use of specialist vocabulary. 
7-8 marks: Answers evaluate with detail the effectiveness of 


social control inside prisons. Answers are well structured and 
clearly expressed. Specialist terms are used with ease and 
accuracy. 
 
Likely answers may include: 
 
Positive effects: 
 


 Protection of society  


 Prevention of crime 


 Rehabilitation of offenders  


 Reparation to society  


 Education/training of offenders 
 
Negative effects: 
 


 Criminal offences are committed e.g. whilst in prison which 
suggests that social control might not be achieved.  


 Disturbances in prisons e.g. HMP Birmingham riots in 2016 
or riot at HMP Oakwood in 2014. 


 Significant rise in prison disturbances and callouts of the 
National Tactical Response group (prison's anti-riot squad).  


 Serious attacks within prison are at a record high.  


 Attacks on prison officers. 


 Use of prohibited drugs and their availability within prisons.  


 Literacy and numeracy ages. Government proposals to 
release early if prisoners improve their skills.  


 
 


Credit any other relevant response. 


8 LO3 


 












Sticky Note

This answer only touches upon relevant aspects of social control inside prisons. It mentions areas of social control and there is some appropriate terminology relating to effectiveness but it lacks development. For instance it mentions re-offending and rehabilitation but does not explain why this is not achieved with statistics or examples.












Sticky Note

A rather general and unsophisticated answer which lacked precision and examples. There are some suggestions about social control such as CCTV and patrols but many of the major issues such as riots and overcrowding are missing. The wording of the answer does show that there is an attempt at addressing the 'effectiveness' element of the question.












Sticky Note

This answer brings in many appropriate aspects of social control inside prisons, for example drug use, recidivism, rehabilitation and token economy. Each of these areas are linked to the effectiveness or otherwise of social control. However actual examples are lacking to give development to the points. The token economy part is detailed but fails to consider if it actually does impact on effectiveness. The answer is well written and contains appropriate terminology.
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Answer all questions.


1.	 According to the Prison Reform Trust (2015) there has been a 91% rise in the prison population 
in England and Wales over the past twenty years. Between 1993 and 2014 the prison population 
increased by more than 40,000. It is estimated that the cost of the increased prison numbers has 
added £1.22bn to government expenditure. 


	 Reoffending rates remain high, with almost half of adults reconvicted within one year of release. 
The number of staff employed by the prison service has fallen by 29% in the last four years. 
However, in March 2015, 70 of the 117 prisons in England and Wales were overcrowded.


	 (a)	 Identify two of the personnel involved in the criminal justice system that a defendant may 
encounter before conviction.	 [2]


	


	


	


	


	 (b)	 With reference to the text, outline the limitations faced by the prison service in England 
and Wales.	 [4]
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	 (e)	 Evaluate the effectiveness of social control inside prisons.	 [8]
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Question Answer Mark LO 


(d)  0 marks: Nothing worthy of any marks. 
1-3 marks: Answers provide a basic/limited analysis of the aims 
of the prison sentence imposed by the judge in Ian’s case. 
Answers convey meaning but lack detail. Little or no use of 
specialist vocabulary. 
4-6 marks: Answers analyse in some detail the aims of the 
prison sentence imposed by the judge in Ian’s case. Answers 
communicate meaning with some use of specialist vocabulary. 
7-8 marks: Answers provide a detailed analysis of the aims of 
the prison sentence imposed by the judge in Ian’s case. 
Answers are well structured and clearly expressed. Specialist 
terms are used with ease and accuracy. 
 
Likely answers may include: 


 Deterrence 
S142 Criminal Justice Act 2003 actually mentions deterrence 
as an aim of punishment. 
Deterrence in general to send out a clear message to 
potential burglars that prison is likely as a sentence. 
Individual deterrence for Ian who must serve the prison 
sentence and would be likely to return to prison for future re-
offending.  


 Retribution 
Idea based on the offender's behaviour as deserving 
punishment. 
It does not seek to alter future behaviour. 
'An eye for an eye'. 
Ian’s offending has adversely affected the public and now he 
must go to prison. 


 Incapacitation or protection of the public. 
Punishments must serve a useful purpose for society. 
Whilst Ian is in prison, the public are not being affected by 
his criminal activity. 


 Rehabilitation. 
A forward-looking aim with a hope that the offender’s 
behaviour will be altered and they will not re-offend. 
Prison would provide direction and rehabilitate him into 
society. 


 Denunciation. 
Society expressing disapproval of criminal activity.  
It shows that justice is being done.  
It reinforces the moral boundaries of acceptable conduct and 
can mould society’s view.  Ian, and others, are being told his 
behaviour is not acceptable. 
 


Credit can be given for either depth and/or breadth of an 
answer. 
 


8 LO2 


   Total for Question 2 25  


 
  












Sticky Note

The majority of the answer is not related to aims of punishment and there is too much of a focus on Ian's childhood. It would have been appropriate to link this information to the aims but the answer fails to do so It is towards the end of the answer that some relevant ideas are included. However there is little development and aims are not considered in any detail. The answer lacks specialist terminology and instead uses very general phrases such as 'remind Ian that what he did was illegal' and ' a punishment so that he doesn't decide to do it again'. 












Sticky Note

This answer does include appropriate aims of punishment, in particular reformation and deterrence. In addition there is an attempt to link aims to Ian's background. The points included were all relevant but the answer lacked detail and development. Also other aims such as retribution and denunciation could have been included.












Sticky Note

A detailed answer with a good range of aims included. This includes deterrence, both individual and general and rehabilitation. The answer is well developed, for example the deferent aspect includes a link to re-offending and limitation of freedom. There is also a comment about deterrence often being ineffective. The analyse of rehabilitation is also developed and links to both Ian and to the effectiveness of this aim. Further recognised aims of punishment and specialist terminology would develop the answer further. 
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2.	 Ian Jones was arrested and charged with 10 offences of theft under The Theft Act 1968. He was 


found guilty of all charges by a jury at Crown Court. The probation service produced a report 
explaining that Ian was brought up in a family with criminal tendencies. The report stated that Ian 
committed the offences to provide a higher standard of living for his family. At the court hearing 
the judge imposed a period of imprisonment of 12 months. 


	 (a)	 Outline the process used by the government for making laws such as The Theft Act 
1968.	 [3]


	


	


	


	


	


	


	 (b)	 Describe the role of the judge in a Crown Court trial.	 [4]
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	 (d)	 Analyse the aims of the prison sentence imposed by the judge in Ian’s case.	 [8]
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Question Answer Mark LO 


(e) 0 marks: Nothing worthy of any marks. 
1-3 marks: Answers give a basic/limited discussion of 
limitations on the police in achieving social control. Answers 
convey meaning but lack detail. Little or no use of specialist 
vocabulary. 
4-6 marks: Answers provide some discussion of limitations on 
the police in achieving social control.  Answers communicate 
meaning with some use of specialist vocabulary. 
7 marks: Answers discuss in detail the limitations on the police 
in achieving social control.  Answers are well structured and 
clearly expressed. Specialist terms are used with ease and 
accuracy. 


Likely answers may include: 


 Legislation and its constraints.


 Budget issues.


 Police by consent - co-operation of public required.


 Keeping up to date, e.g. rapid spread of new forms of
communication, changes in technology and the increase in
cross border criminality.


 Growing income inequality and the fragmentation of families
and communities.


 Staffing issues including numbers, visibility and skills.


 Civil unrest such as London riots 2011.


 Statistics including those relating to ineffective crime
recording and investigations


 Relationships with other agencies such as CPS or courts.


 Insufficient powers.


Credit any other relevant response. 


7 LO3 


Total for Question 3 25 












Sticky Note

A very weak answer that makes a brief reference to the limitations of the police service in achieving social control. Whilst the points are relevant the answer needs development with detail and examples to achieve a higher mark. 












Sticky Note

This answer includes many limitations of the police in achieving social control. The point about a limited budget is explained in some detail, for example the impact on police numbers and hence effectiveness, but it could be improved further with statistics. The legal barriers and mention of PACE helps to develop the answer to an extent. However overall detail is lacking and in particular more limitations are needed to reach a higher mark. 












Sticky Note

This is a well written answer with many appropriate points included. Aspects about the police not recording crimes and the subsequent impacts is a sophisticated issue to include However further improvement could be included with reference to unrecorded crime such as statistics or reference to the police force areas that are worst at recording crimes. 
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3.	 The town of Fainton has recently suffered from a large number of burglaries. Despite the police 
investing a great deal of time and resources into investigating and detecting the crimes, they are 
still continuing. 


	 A senior police officer has been on a fact-finding mission to America to review how environmental 
design can have an impact on crime control. The police officer has returned and is very impressed 
with what she has found and is trying to convince the local Police and Crime Commissioner that 
he should consider this approach to social control. 


	 (a)	 Describe two models of criminal justice.


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 [2]


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 [2]


	 (b)	 Describe two environmental measures used by agencies to achieve social control.


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 [2]


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 [2]
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	 (e)	 Discuss limitations on the police in achieving social control.	 [7]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


END OF PAPER
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